Lecture 12-QM II (08/08/00) Saturday, October 30, 2021 2:55 PM س المحل غرداسية مرز (داين بدر) $H = H_0 + \lambda H_1$ $H_0 | n^{(0)} \rangle = E_n^{(0)} | n^{(0)} \rangle$ $H(n) = E_n(n)$ $E_n = E_n^{(o)} \sim O(\lambda)$ $|n\rangle - |n^{(0)}\rangle \sim O(\lambda)$ $\star E_n = E_n^{(0)} + \sum_{i=1}^{\infty} \lambda^i E_n^{(i)}$ $|n\rangle = |n^{(0)}\rangle + \sum_{i=1}^{\infty} \lambda^{i} |n^{(i)}\rangle$ $O_{nsoly}: \qquad |n\rangle = \left\{ N(\lambda) \left(|n^{(0)}\rangle + \sum_{\substack{k \neq n \\ k \neq n}} C_{nk}(\lambda) - |k^{(0)}\rangle \right) \right\}$ $C_{nk}(\lambda) = \sum_{\substack{i=1 \\ i \neq n}}^{\infty} \lambda^{i} C_{nk}^{(i)} - k$ $\langle n | n \rangle = 1$ $\begin{array}{c} H & |n\rangle = E_n & |n\rangle \\ (H_{0+}\lambda H_i) \left\{ \begin{array}{c} \end{array} \right\} = (\star) \left\{ \begin{array}{c} \end{array} \right\} \end{array}$ λ^{0} : $H_{0} | n^{(0)} \rangle = E_{0}^{(0)} | n^{(0)} \rangle$ $\lambda^{1} : H_{i} | n^{(0)} \rangle + \sum_{k \neq n} C_{nk}^{(1)} H_{0} | k^{(0)} \rangle = E_{n}^{(1)} | n^{(0)} \rangle + \sum_{k \neq n} C_{nk}^{(1)} E_{n}^{(0)} | k^{(0)} \rangle$ $\lambda^{2} : \sum_{k \neq n} C_{nk}^{(1)} H_{i} | k^{(0)} \rangle + \sum_{k \neq n} C_{nk}^{(2)} H_{0} | k^{(0)} \rangle =$ $= \sum_{\substack{k \neq n}} C_{nk}^{(2)} E_{n}^{(0)} |k^{(0)}\rangle + \sum_{\substack{k \neq n}} C_{nk}^{(1)} E_{n}^{(1)} |k^{(0)}\rangle$ $= \underbrace{E_n^{(2)}}_{n} |n^{(0)} \rangle$ λ3 $E_{n}^{(1)} = \langle n^{(0)} | H_{1} | n^{(0)} \rangle E_{n=0}^{(1)}$ $|n^{(1)}\rangle = N(\lambda) \sum_{k \neq n} C_{nk}^{(1)} |k^{(0)}\rangle$ $\langle n | n \rangle = 1 \rightarrow (1 + O(\lambda^2))$ $C_{nk}^{(i)} = \frac{\langle k^{(0)} | H_i | n^{(0)} \rangle}{E_n^{(0)} - E_k^{(0)}}$ n = 0 $|n^{(1)}\rangle = \sum_{\substack{k \neq n \\ k}} \frac{|k^{(0)}\rangle \langle k^{(0)}|H_1|n^{(0)}\rangle}{\mathcal{E}_n^{(0)} - \mathcal{E}_k^{(0)}}$ $\sum_{\substack{k \neq n}} C_{nk}^{(2)} = E_{k}^{(0)} < n^{(0)} | k^{(0)} > + \sum_{\substack{k \neq n}} C_{nk}^{(1)} < n^{(0)} | H_{i} | k^{(0)} >$ $= \sum_{n \neq k} C_{nk}^{(2)} E_{n}^{(0)} \left\langle \sum_{n}^{(0)} k^{(n)} \right\rangle + \sum_{k \neq n} C_{nk}^{(1)} E_{n}^{(1)} \left\langle \sum_{n}^{(0)} k^{(0)} \right\rangle$ $+ E_n^{(2)} < n^{(0)}/n^{(0)} >$

$$\begin{array}{c} + \frac{1}{2} & \langle n^{(1)} | k^{(1)} \rangle \geq \frac{3}{6} \sum_{m \in I} = 0 \qquad n \neq k \qquad n$$

 $H \mid n \rangle = E_n \mid n \rangle$ $(H_{0+\lambda}H_{i}) \qquad \left\{ \sum_{i=1}^{\ell} d_{i} |n_{i}|^{(0)} \right\} + \sum_{k \neq n} \lambda C_{nk} \sum_{i=1}^{(1)} \beta_{i} |k_{i}|^{(0)} \right\} + \cdots \right\}$ $= \left(\mathcal{E}_{n}^{(\prime)} + \lambda \mathcal{E}_{n}^{(\prime)} + \cdots \right) \left\{ \frac{\sum_{i=1}^{\ell} \alpha_{i} |n_{i}^{(\prime)}\rangle}{\sum_{i=1}^{\ell} \alpha_{i} |n_{i}^{(\prime)}\rangle} + \frac{\sum_{k\neq n} \lambda \mathcal{C}_{nk}^{(\prime)}}{\sum_{i=1}^{\ell} \beta_{i} |k_{i}^{(\prime)}\rangle} + \cdots \right\}$ λ^{2} : $E_{n}^{(i)} = 2$ $\langle n_j^{(0)} | k_i^{(0)} \rangle = \delta_{ij} \delta_{nk} = 0 \qquad k \neq n$ $\sum_{i=1}^{l} \langle n_{j}^{(0)} | H_{i} | n_{i}^{(0)} \rangle \quad \alpha_{i} = E_{n}^{(1)} \alpha_{j}^{i}$ $\begin{array}{cccc} (H_{i})_{ji} & \alpha_{i} &= & E_{n}^{(i)} & \alpha_{j} \\ \hline H_{i} & \overrightarrow{\alpha} &= & E_{n}^{(i)} & \overrightarrow{\alpha} \\ \hline & & & & & & \\ \hline \end{array}$